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of

g

s 3

H 2 3 At ] 2k (30HE )
x| —]
8 B % 15¢ 30¢ 45¢ 60 75¢ g0g
16.7 16.7 16.7 16.7 16.6 16.6
HII= Xl 100.0
e Al 100.0 16.7 16.7 16.7 16.7 16.6 16.6
T Al 100.0 16.7 33.4 50.1 66.8 83.4 100.0




o F EEFAL SN N M A X M A Y A M7l 20234 11€ ¢
de sts A Xwe| X
XY= 1003 M(S=E) SIMEXE ZAMAY
A 7 ol 4 1
OAMNYIl
NHZIE Hel - HEIZAg E 104.0 ton
- H of & 2 538 ton
2)H 7| & € HF - 15Ton(30KMO|LH) 642.0 ton
O S AFH L A
7 2 3 o a3
B 7l & A 2l AZ ol HA AT W 27,700,000
= =1 ol U Z o| M A A A W 27,700,000




off & LY
S| =
z = 2 2z |os
! 3 o 3 o

»H Ol 2 X 2l 27,700,000 27,700,000
1.H7I2 x2l 17,778,692 17,778,692
HOI2 HMel 104.0 | Ton 25,989 2,702,856 2,702,856
HOI2 HMel AZE 538.0 | Ton 28,022 15,075,836 15,075,836
2.HIIE 28 7,422,804 7,422,804
HOIE2 28t 15Ton (30KOI LK) 642.0 | Ton 11,562 7,422,804 7,422,804
3.2IPLXI Al 2,520,149 2,520,149
SILILXIA 39 10 % 25,201,496 2,520,149 2,520,149
4x H o 1| A 21,645 |- 21,645 21,645




Ql
. 2 J| El
2 s 7 2 sz (oo g A 2 3l i)
HIIS X HOIAEE 1 Ton 28,022.00 28,022.00
HIIS X H=232E 1 Ton 25,989.00 25,989.00
HII=S28t 15Ton, 30kmOl LY 1 Ton 11,562.00 11,562.00
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